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position in the line?

Ans

+ 1. Second from the extreme left end
« 2. Third from the extreme left end
# 3. At the extreme left end

X 4. Third from the extreme right end

Q.1  Six girls named B, Q, R, S, T and U are sitting in a straight line. All are facing the north direction. U sits third 1o the left
of R 5 sits third to the right of Q). 17 sits secand to the left of Q). T is not the immediare neighbour of T7. What is P's

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

7518975140
75189720557
75189720559
75189720558
75189720560
Answered

1
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Q.2
Study the graph and answer the question.

Production of cotton in tons
cwshBRERERS

017 Z01E 2019 2020

Years

compared to 20177

Ans X 1. 26%
< 2. 30.50%
« 3. 28.12%
X 4. 25.05%

The following bar graph shows the production of cotton (in tons) over the years.

What is the approximate percentage increase in the production of cotton in 2020 as
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975121
75189720481
75189720484
75189720483
75189720482
Answered

3

Rheumatoid Arthritis treatment?

Ans & 1. Ministry of Ayush
X 2. Ministry of Science and Technology
X 3. Ministry of Chemicals and Fertilizers

X 4. Ministry of Health and Family Welfare

Q.3 Which ministry has launched the world’s first multicentre phase III clinical trial to assess Ayurveda’s efficacy in

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

7518974150

75189716598
75189716600
75189716599
75189716597

: Answered
Chosen Option :

4
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Q.4 The table given below shows the number of students who were inferviewed and who got selected by the universities A,
B, C and D over the years. Smidy the table and answer the question.
tudents | & B C o
Interviewad | Selected | Interviewsd | Selected | Interviewed | Salected | Interviewed | Selected

Years

2017 1500 700 1200 80O 1800 1000 1200 750
2018 1500 200 1500 500 2000 1120 1400 460
2019 2200 300 2000 630 1800 1100 2000 500
2020 1500 350 1600 700 1800 1200 1500 450
2021 1100 400 1500 430 1300 200 1300 350

number of students who were interviewsd over the years?

In university C, the fotal number of students selected over the vears was approximarely what percentage of the total

Ans X' 1. S09%%
« 2. 60%
&< 3. 40%
X4 65%
Question ID : 7518975126
Option 1 ID : 75189720502
Option 2 ID : 75189720503
Option 3 ID : 75189720501
Option 4 ID : 75189720504
Status : Answered
Chosen Option : 2
Q.5 Select the set in which the numbers are related in the same way as are the numbers of the following sefs.
(NOTE : Operations should be performed on the whole numbers. without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding /deleting ‘nwltiplying ete. to 13 ean be performed.
Breaking down 13 into | and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(2,4, L8)
(4, 6. 50)
Ans
x 1. (6,7,65)
v 2 (3,5.32)
<3 (5,4, 18)
X4 (2,5, 49)
Question ID : 7518975086
Option 1 ID : 75189720343
Option 2 ID : 75189720341
Option 3 ID : 75189720344
Option 4 ID : 75189720342
Status : Answered
Chosen Option : 2
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Q.6 Inthiz question, a group of nimbers/symbols is coded using letrars az per the table given below and the conditions

which follow. The cerrect combination of codes following the condition is your answer.

Number/Symbol

w
I
s
-1

1

@ % |-

Code Z|F|T|J|D|H

Conditions:

(1} If the first element is a symbol and the last, a number, the codes for these two are to be interchanged.

(1i)If the first element is an odd number and the last, an even number, the first and last elements are to be coded as ©.

(1ii)If both second and third elements are perfect squares, the third element is to be coded as the code for the

second element.

How will *3=<2 @ 8" be coded?

Ans . OFEDXO
X2 OFEXDO
3 OFPXDO
X4 OPFXDO
Question ID : 7518975033
Option 1 ID : 75189720132
Option 2 ID : 75189720129
Option 3 ID : 75189720130
Option 4 ID : 75189720131
Status : Answered
Chosen Option : 3
Q.7
Who became the youngest ever Indian to win a BWF Super 100 tournament, in 20227
Ans
X1 Mugdha Agrey
v 2. Unnati Hooda
A 3. Malvika Bansod
X 4. Ashmita Chaliha
Question ID : 7518973750
Option 1 ID : 75189715000
Option 2 ID : 75189714999
Option 3 ID : 75189714998
Option 4 ID : 75189714997
Status : Answered
Chosen Option : 2
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Chosen Option :

Q.8 Whar is the name of the holy book of Muslims, which describes the relationship between an omnipotent and omniseient
God and his creations?
Ans s 1. Quran
< 2. Sahih al-Bukhari
# 3. Torah
X 4. Injil
Question ID : 7518974024
Option 1 ID : 75189716096
Option 2 ID : 75189716094
Option 3 ID : 75189716095
Option 4 ID : 75189716093
Status : Answered
Chosen Option : 1
Q.9 Rachna caneat 21 oranges in 60 minutes. She wants 1o know how many minutes it would take her to eat 35 oranges at
the same pace?
Ans  x1. 90 min
X 2. 80 min
2 3. 120 min
« 4 100 min
Question ID : 7518975611
Option 1 ID : 75189722442
Option 2 ID : 75189722441
Option 3 ID : 75189722444
Option 4 ID : 75189722443
Status : Answered
Chosen Option : 4
Q10 WWhat is the basic event in reproduction?
Ans X 1. Cell division
+ 2. Replication of DNA
X 3. Making of proteins
X 4. Replication of RNA
Question ID : 7518974654
Option 11D : 75189718616
Option 2 ID : 75189718613
Option 3 ID : 75189718615
Option 4 ID : 75189718614
Status : Answered

1
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Q.11 If*—"means- <+

expression?

Ans

{12 x3) -2 =D+ (1-4]=4

« 1. 12
<216
X3 9
x4 8

=" means ‘+', * X " means ‘— and *+' means * X *, then, what will be the value of the following
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
: Answered
Chosen Option :

Status

7518975106

75189720423
75189720422
75189720421
75189720424

1

Ans

Q12 The Nubra. Shvok and Hunza are tributaries of the river

« 1. Indus
X 2. Sutlej

X 3. Ganga
X 4. Brahmaputra

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976494
75189725974
75189725976
75189725973
75189725975
Answered

2

Ans

< 11962
« 2. 1974
2 3. 1981
X 4. 1968

Q.13 In which year did the Indian government conduct its first nuclear test in the deserts of Pokhran?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

7518974168
75189716671
75189716672
75189716670
75189716669
Answered

Chosen Option : 2
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Q.14

Study the given diagram carefully and answer the question. The numbers in different sections indicate the number of

persous.

movie
lovers

How many such fathers are thers who are also movie lovers but NOT engineers?

Ans 5 1. /1
<2 29
« 3 38
X4 44
Question ID : 7518975184
Option 1 ID : 75189720736
Option 2 ID : 75189720733
Option 3 ID : 75189720735
Option 4 ID : 75189720734
Status : Answered
Chosen Option : 3
Q.15 Two pipes, Aand B. can fill a tank of 1000 litres in 5 hours and 6 hours, respectively. If they are opened together, how many
hours will they take to fill an empty tank of 1800 litres?
Ans 25
O —
11
54
&2
11
.. 45
b G
11
. 92
X4 _—
11
Question ID : 7518975886
Option 1 ID : 75189723543
Option 2 ID : 75189723541
Option 3 ID : 75189723544
Option 4 ID : 75189723542
Status : Answered
Chosen Option : 2
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Q.16

Ans

SRElSdI (Bordoisila) T, 34 ¥ fdd YRR I & 341 62

v HH

Xz.-q—E;mE
X3 [ Uel
AR 2

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 7518973895

: 75189715579
: 75189715578
: 75189715580
: 75189715577
: Not Answered
Chosen Option :

Q.17

Ans

Three statements are followed by three conclusions mumbered T, TT and TI1. You have to consider these statements to be
true, even if they seem to be at varlance with commonly known facts, and decide which of the given conclusions

logically follow/s from the given statements.
Statements:

Some hotels are dormitories.

Some gates are shelters.

All shelters are fences.

Conclusions:

(I) Some gates are dormiteries.

(M) Some fences are gates.

(I11) Some hotels are shelters.

# 1. Only conclusion I follows

& 2. None of the conclusions follow

« 3. Only conclusion II follows

& 4. Either conclusion I or conclusion II follows

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974927
75189719705
75189719708
75189719706
75189719707
Answered

3
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« 2. KC Neogy
X 3. Vijay Kelkar
X 4. C Rangarajan

Q.18 The First Finance Commission was constituted vide Presidential Order dated 22.11.1951 under
the chairmanship of

Ans X1, YV Reddy

Chosen Option :

Question ID : 7518974246
Option 1 ID : 75189716982
Option 2 ID : 75189716983
Option 3 ID : 75189716981
Option 4 ID : 75189716984
Status : Answered
Chosen Option : 2
Q.19
In January 2022, which of these IITs launched the Global Center of Excellence in Affordable and Clean Energy (GCoE-
ACE)?
Ans
A1 1ISc Bengaluru
A 2. 1IT Hyderabad
« 3 TIT Dharwad
&4 IIT Roorkee
Question ID : 7518973774
Option 1 ID : 75189715094
Option 2 ID : 75189715096
Option 3 ID : 75189715095
Option 4 ID : 75189715093
Status : Not Answered
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Q.20 sixdoctors, K, L. M. N. O and P, are sitting in a straight line. All are facing the north direction. Only O is sitting
between N and L. Only P is sitting between I and K. K sits fifth to the right of M. Who is sitting to the immediate right
of M?
Ans X' 1. ()
X2 L
3 N
X4 P
Question ID : 7518975142
Option 1 ID : 75189720568
Option 2 ID : 75189720567
Option 3 ID : 75189720565
Option 4 ID : 75189720566
Status : Answered
Chosen Option : 3
Q.21 Which of the following is/are NOT true for ionic compennds?
i. Tenie compounds have low melting and boiling points.
ii. Tonic compounds are brittle and break into pieces when pressure is appliad.
iii. Tonic compounds are solids and are somewhat hard because of the strong force of attraction between the positive and
negative ions.
iv. Tonic compounds conduct eleciricity in the molten state.
Ans X 1. jand ii
X 2. jand iii
X3 jandiv
« 4 Only i
Question ID : 7518973689
Option 1 ID : 75189714754
Option 2 ID : 75189714755
Option 3 ID : 75189714756
Option 4 ID : 75189714753
Status : Not Answered
Chosen Option : --
Q.22 . .
Simplify V625 — /324 + 332.
Ans X 1. 1609
< 2. 1906
« 3. 1096
X 41069
Question ID : 7518975803
Option 1 ID : 75189723210
Option 2 ID : 75189723211
Option 3 ID : 75189723212
Option 4 ID : 75189723209
Status : Answered
Chosen Option : 3
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Q.23 Which cultural festival of India is a ten-day festival of classical dance, folk art and light music. and is held every year
between February and March at Shilpgram?

Ans 1. Taj Mahotsav
X 2. Hampi Dance Utsav
X 3. Natyanjali Utsav
X 4. Nishagandhi Festival

GET IT ON
Google Play

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518973997
75189715987
75189715988
75189715986
75189715985
Not Answered

Q24 1f 3 substance loses hydrogen during a reaction, it is said to be:

Ans X 1. reduced
X 2. decomposed

X 3. neutralised
« 4. pxidised

Status

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
: Answered
Chosen Option :

7518973607

75189714425
75189714427
75189714428
75189714426

4
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Q.25 Study the given diagram carefully and answer the following question. The mumbers in different sections indicate the
mumber of persons with different professions.

Gardaners ’A‘ ndustrialists
(5w
-

Engineers

How many people are Gardeners but NOT Engineers?

Ans s 1. §8
X2 56
<3 80
X475
Question ID : 7518974948
Option 1 ID : 75189719790
Option 2 ID : 75189719789
Option 3 ID : 75189719792
Option 4 ID : 75189719791
Status : Answered
Chosen Option : 1
Q.26 A light ray is travelling from air medium to water medium (refractive index = 1.3)
such that angle of incidence is x degree and angle of refraction is y degree. The
value of ratio (sin v)/ (sin x) is:
Ans x 1. 1.3
w2 /1.3
a3l
x4 0.3
Question ID : 7518975416
Option 1 ID : 75189721662
Option 2 ID : 75189721661
Option 3 ID : 75189721663
Option 4 ID : 75189721664
Status : Answered
Chosen Option : 1
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@2 The value of V1234321 =

Chosen Option :

Ans 11111
<2121
X3 139
X4 1219
Question ID : 7518975562
Option 1 ID : 75189722247
Option 2 ID : 75189722245
Option 3 ID : 75189722246
Option 4 ID : 75189722248
Status : Answered
Chosen Option : 1
Q28 WWhat is the measure of each exterior angle of a regular hexagon?
Ans X 1. 12(°
X2 30
« 3. 60°
X4 45°
Question ID : 7518975983
Option 1 ID : 75189723932
Option 2 ID : 75189723930
Option 3 ID : 75189723929
Option 4 ID : 75189723931
Status : Answered
Chosen Option : 1
Q.29 Janhvi and Pranitha are standing at the extreme ends of a row in which all the students are facing the nerth. Only 26
students are standing between Janhvi and Ravi. Only 14 students are standing between Ravi and Pranitha. Total how
many students are standing in the line?
Ans 1. 43
X2 44
<3 45
X4 42
Question ID : 7518975146
Option 1 ID : 75189720582
Option 2 ID : 75189720583
Option 3 ID : 75189720584
Option 4 ID : 75189720581
Status : Answered

1
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Ans

# 1. PU Chitra

X 2. Shiny Kurisingal Wilson
« 3. Anju Bobby George

X 4. PT Usha

Q.30 InDecember 2021, who among the following won the Woman of the Year Award by World Athletics for grooming talent
and encouraging young girls in India to take up sports and fight for gender equality?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976506
75189726023
75189726024
75189726022
75189726021
Not Answered

Ans

Q.31 1dentify the correct statement(s) from among the following.

(a) Resistivity of a material is dependent on the nature of the material.

(b)Resistivity of a material is independent of the area of cross section.

(c) Resistivity of a pure metal is more than its alloy.

X 1. Only (a)

X 2. Only (b)

+ 3. Both (a) and (b)

X 4. Both (b) and (c)
Question ID : 7518975463
Option 1 ID : 75189721849
Option 2 ID : 75189721850
Option 3 ID : 75189721851
Option 4 ID : 75189721852

Status : Answered
Chosen Option : 3
.32 . . . ]
@32 The coefficient of x*y? in the expansion of (3x — 2y)2(x% + y*)? is:
Ans X' 1. 14

« 2. 18

X3 12

<4 15
Question ID : 7518976321
Option 1 ID : 75189725284
Option 2 ID : 75189725281
Option 3 ID : 75189725283
Option 4 ID : 75189725282

Status : Answered
Chosen Option : 2
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Q.33

Ans

Refer to the following number series and answer the guestion.

25265226389563622553

How many such numbers are there in the series each of which is immediately preceded by an odd number and also

immediately followed by an odd number?
~< 11
w2 3
~<3 2
x4 4

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975003
75189720009
75189720011
75189720010
75189720012
Answered

3

Ans

(A) Concave mirror
(B) Convex mirror

(C) Plane mirror
X 1. OnlyAand B
« 2 A ,Band C
X3 OnlyBandC
X 4. OnlyAand C

Q34 The laws of reflection hold true for which of the following mirror(s)?

Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID

7518975348
75189721389
75189721392

: 75189721390
: 75189721391

Status :
Chosen Option :

Answered
2
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Ans

« 1. One
X 2. Three
< 3. None
X 4. Two

Q.35 Each of the digits in the number 318324765 is amanged in descending order from left to right. The position of how
many digits will remain unchanged as compared to that in the original number?

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

7518974875
75189719498
75189719500
75189719497
75189719499
Answered

1

Ans

v 1. 317
X2 312
X3 %76
x4 332

Q.36 we wer fAFar 74,800 F 800 ¥ wWiEar &1 3¢ TfiEes 9T 800 W LT ¥ 5V Yedw ¥ 9T 110 F
M 9 L & fom, 9ode @ # hw Hew @ dwer =ifgu?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975632
75189722528
75189722527
75189722525
75189722526
Answered

1

Ans

Q.37 Ifx:6:u6:v.andx:y:y: 6, then which of the options below gives the correct values of x and y . in that order?
+ 1. 6and 6

A2 [2and 12

X3 Gand 12

<4 12and 6

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 7518975841
Option 11D :

75189723361

: 75189723364
: 75189723362
: 75189723363
: Answered

Chosen Option :

1
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Q.38

Tn this question, a statement is followed by two conclusions. Which of the rwo conelusions is/are true with respect to the

starement?

Statement: F=EzD=A>Z<5=0

Conclusions:

GET IT ON
Google Play

Chosen Option :

LF>D
mD<0
Ans 1. Only conclusion I is true
& 2. Neither conclusion I nor II is true
« 3. Both conclusions I and II are true
X 4. Only conclusion II is true
Question ID : 7518974959
Option 1 ID : 75189719833
Option 2 ID : 75189719836
Option 3 ID : 75189719835
Option 4 ID : 75189719834
Status : Answered
Chosen Option : 1
Q.39 This question is based on the five, three-digit numbers given below:
(Left) 448 455 275 563 215 (Right)
‘What will be the resultant if the third digit of the largest number is added to the second digit of the smallest pumber?
Ans 51§
w2 4
X33
K45
Question ID : 7518975016
Option 1 ID : 75189720064
Option 2 ID : 75189720062
Option 3 ID : 75189720061
Option 4 ID : 75189720063
Status : Answered
Chosen Option : 2
Q.40 The policy norms for Mission Vatsalya scheme implemented by the Ministry of Women and Child Development have
been applicable from the 1% of which month in 2022:
Ans w1 April
X 2. August
X 3. March
X 4. January
Question ID : 7518976525
Option 1 ID : 75189726099
Option 2 ID : 75189726100
Option 3 ID : 75189726098
Option 4 ID : 75189726097
Status : Not Answered
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Q.41 Aray of light is incident on an interface separating two media at an angle of incidence equal to 45, for which the angle of

refraction is 30° The refractive index of the second medium with respeet 1o first, is equal to:

Ans
_ 3
%1 ¥3
2
- 1
2. —
W2
_ 1
X3 =
2
i 2
Question ID : 7518975394
Option 1 ID : 75189721576
Option 2 ID : 75189721574
Option 3 ID : 75189721575
Option 4 ID : 75189721573
Status : Answered
Chosen Option : 4
Q42 1f the mean of the following data is 4, find the missing frequency.
Ans X 1. 5
X2 4
<3 7
¥4 3
Question ID : 7518975678
Option 1 ID : 75189722710
Option 2 ID : 75189722709
Option 3 ID : 75189722712
Option 4 ID : 75189722711

Status :

Chosen Option :

Not Attempted and
Marked For Review
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Q43 The value of 156.025 +251.216 — 52.156 is:

Ans X' 1. 326.327
X2 332.074
« 3. 355.085
X4 302.152
Question ID : 7518976230
Option 1 ID : 75189724919
Option 2 ID : 75189724920
Option 3 ID : 75189724917
Option 4 ID : 75189724918
Status : Answered
Chosen Option : 3
Q.44 six friends, Arun, Suresh, Rahul, Priyanka, Dilan and Hiba, took a test online. All of them scored different marks in the
test. Suresh scored more than Privanka but less than Arun. Hiba scored the least. Dilan scored less than Rahul. Anmn
scored more than Privanka and Rahul, Who among the six scored the most?
Ans X 1. Rahul
X 2. Priyanka
« 3. Arn
# 4 Suresh
Question ID : 7518974972
Option 1 ID : 75189719887
Option 2 ID : 75189719888
Option 3 ID : 75189719886
Option 4 ID : 75189719885
Status : Answered
Chosen Option : 3
Q.45 The manufacturing of refrigerators that do not release chlorofluorocarbons has been made mandatory throughout the
world. How will this help to prevent ozone depletion?
Ans o 1.
It will reduce the release of CFCs that react with ozone molecules.
X 2. It will help convert oxygen molecules into ozone.
X 3. CFCs will change into ozone molecules.
< 4.
It will reduce the production of CFCs from oxygen molecules.
Question ID : 7518974667
Option 11D : 75189718668
Option 2 ID : 75189718665
Option 3 ID : 75189718666
Option 4 ID : 75189718667
Status : Answered
Chosen Option : 1
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Q.46 The Archaeological Survey of India’ is headquartered in which of the following cities?

GET IT ON
Google Play

Ans X 1. Kolkata
X 2. Chandigarh
# 3. Mumbai
« 4. New Delhi

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974185
75189716737
75189716740
75189716739
75189716738
Answered

4

Q.47 How many tiers of administration are there in the Panchayati Raj Institutions (in states having a population more than 2

million)?
Ans & 1.3
<21
X3 6
<45
Question ID : 7518974308
Option 1 ID : 75189717230
Option 2 ID : 75189717229
Option 3 ID : 75189717232
Option 4 ID : 75189717231
Status : Answered
Chosen Option : 1
Q.48 1In the given letter-cluster pairs, the first letter-cluster is related to the second letter-cluster following a certain logic.
Study the given pairs carefully, and from the given options, select the pair that follows the same logic.
STM : RUL
PIR : OKQ
Ans X' 1. VEW : UDV
X2 MTL:LUM
« 3. TCS : 5DR
X 4 BUP:AVQ
Question ID : 7518974853
Option 1 ID : 75189719412
Option 2 ID : 75189719409
Option 3 ID : 75189719410
Option 4 ID : 75189719411
Status : Answered
Chosen Option : 2
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Q.49 nﬁ a;

Ans

F, TS ¥ TIETEE g1 &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974332
75189717325
75189717327
75189717328
75189717326
Not Answered

Q50 The magnetic field lines inside a bar magnet are directed from:

Ans 1. south pole to north pole
X 2. centre to south pole
X 3. centre to north pole
X 4. north pole to south pole
Question ID : 7518975512
Option 1 ID : 75189722046
Option 2 ID : 75189722048
Option 3 ID : 75189722047
Option 4 ID : 75189722045
Status : Answered
Chosen Option : 4
Q31 Which of the following in Indian Constitution has been taken from the Constitution
of the United States?
Ans X 1. Procedure Established by Law
« 2. Fundamental Rights
X 3. Parliamentary Government
X 4. Fundamental Duties
Question ID : 7518974290
Option 11D : 75189717158
Option 2 ID : 75189717160
Option 3 ID : 75189717157
Option 4 ID : 75189717159
Status : Answered
Chosen Option : 2
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Q.52 What aids in preventing the mixing of oxygen-rich and carbon dioxide-rich blood in the heart?

Ans 2 1. The wall between the chambers

X 2. Pulmonary valve
X 3. Tricuspid valve

< 4. Aoprtic valve

GET IT ON
Google Play

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974391
75189717564
75189717562
75189717561
75189717563
Answered

1

Q.53 57 we &, FEmiTEE ¥ v FHp W AW & 7w A AN 3us @y & E ot & aeER et
& IUART L A AT T E| ol & HBW Fel el WA HTH Fead BTl

gemses |~ | #|5|7|@| %[> 21 [2]4]|8|% |3

EIcH
ofy vgen a3 T T . i #ow o7 U TE A o a F Fel B O agen S e

Tfg g FeF v v T g, & e AR Ew g & w0 3R ¥ F w9 F geae B
ST

T gEY T AEY Fe, Qe qUT 9§, A ey aeT Y gEY AeT & ge % w9 & gead fhar S|
'7#“2!‘QWWH@EEWTW
Ans 1 FF L X ¥
X2 JFLX¥
X3 JBFVZ
Xe@FLXV

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975029
75189720115
75189720114
75189720113
75189720116
Answered

1
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Q.54

How many Prime Ministers of India have been elected upto June 2022, who were also Chief Ministers of their

respective srates?

Ans
X1 g
X210
X3 g
W45

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

7518973930

75189715718
75189715720
75189715717
75189715719

: Not Answered
Chosen Option :

Q.55 Select the option that represents the letrers that, when placed from left to right in the same sequence in the blanks below,

will complete the letter series.
QW_R_XE_Q_ERQZE_
Ans X 1. EQRER
X 2. EQRYE
« 3 EQRYR
X 4. EQZYR

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974977
75189719908
75189719907
75189719906
75189719905
Answered

1
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Q.56 If the average of two numbers is 26 and one of them is 12, then find the other number.

Status :

Chosen Option :

Ans X1 32
X2 20
X3 14
o 440
Question ID : 7518975927
Option 1 ID : 75189723708
Option 2 ID : 75189723706
Option 3 ID : 75189723705
Option 4 ID : 75189723707
Status : Answered
Chosen Option : 4
Q.57 v faer & 3G, 3ES 99 B A S FF T § 3 G S a9 ang, Far ooy sws 97 & g H
i A g SeEn | Rar #r adee e Reae &7
Ans x 1. 36 §
X2 39 T§
X3 45 T¥
V442 38
Question ID : 7518976336
Option 1 ID : 75189725344
Option 2 ID : 75189725343
Option 3 ID : 75189725341
Option 4 ID : 75189725342
Status : Answered
Chosen Option : 4
Q.58 The floor of an office has dimensions 5 m * 3 m. The cost of painting the walls and ceiling is 27,440 at the rate of
260/m7. Find the height of the room (in m).(rounded off to one decimal place)
Ans X' 1. 4.5
X2 56
X3 35
4 0.8
Question ID : 7518976194
Option 1 ID : 75189724774
Option 2 ID : 75189724775
Option 3 ID : 75189724776
Option 4 ID : 75189724773

Not Attempted and
Marked For Review
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field and the motion of the conduetor is:

Q.59 Fleming’s right-hand rule can be used to determine the direction of induced current when the angle between the magnetic

Chosen Option :

Ans
1. 90°
X2 30°
K3.180°
X4 0°
Question ID : 7518975546
Option 1 ID : 75189722183
Option 2 ID : 75189722182
Option 3 ID : 75189722184
Option 4 ID : 75189722181
Status : Answered
Chosen Option : 1
Q.60 - . x
The Central Government of India has reduced Agricultural Infrastructure Development Cess (AIDC) on Crude Palm Oil
(CPO) from 7.5% to with effect from 12T February 2022.
Ans
X1 3%
K2 6%
K3 40
o 4. 504
Question ID : 7518973847
Option 1 ID : 75189715388
Option 2 ID : 75189715385
Option 3 ID : 75189715387
Option 4 ID : 75189715386
Status : Not Answered
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5.6.10.12.15,7,20,24

Q.61 Which of the following numbers will replace the question mark (?) in the given series?

Ans o1 7]
<2 20
« 3. 18
X419
Question ID : 7518974856
Option 1 ID : 75189719422
Option 2 ID : 75189719423
Option 3 ID : 75189719424
Option 4 ID : 75189719421
Status : Answered
Chosen Option : 3
Q62 3118 is divisible by:
Ans 21§
X2 8
x<3 35
X4 7
Question ID : 7518975810
Option 1 ID : 75189723238
Option 2 ID : 75189723240
Option 3 ID : 75189723237
Option 4 ID : 75189723239
Status : Answered
Chosen Option : 1
Q63 s & forw T=T F YU & HEROT F AU WEF (Khadins) ST S §7
Ans K1 of¥es e
v 2. TTEdTH
X3 TR
x 4. TR
Question ID : 7518974502
Option 1 ID : 75189718005
Option 2 ID : 75189718007
Option 3 ID : 75189718008
Option 4 ID : 75189718006
Status : Answered

Chosen Option : 2
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Ans

the whole transaction?

1. 15% gain

X2 18

%o loss

X 3. 18% gain

X 4. 15

%o loss

Q.64 Adealer sold three-fifth of his goods ata gain of 25% and the remaining at cost price. What is his loss or gain percent in

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 7518976281

: 75189725124
: 75189725121
: 75189725122
: 75189725123
: Answered

1

Ans

Q65 Find the arithmetic mean of the given data.

X

10

20

30

40

50

f

5

5

4

6

5

X1 264

< 2. 30.

« 3. 30
< 4

6

4
16.4

Question ID : 7518975898

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189723591
75189723590
75189723589
75189723592

Not Attempted and
Marked For Review

Ans

X 1. Seminal vesicle is a gland present in human males

X 2. Regeneration is not the same as reproduction

Q.66 Which of the following is the INCORRECT feature related to animal reproduction?

X 3. In Amoeba, splitting of two cells takes place in any plane

o 4.

Fertilisation of egg takes place in the uterus in human female

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

7518974614
75189718455
75189718453
75189718454
75189718456
Answered

Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

(Left) 259812357 (Right)

Q.67 If each of the digits in the number given below is arranged in the descending order from left to right, what will be the
sum of the digits that are second from the left and third from the right in the new number thus formed?

Ans X112
<2 8
« 3. 10
x4 11
Question ID : 7518975315
Option 1 ID : 75189721260
Option 2 ID : 75189721257
Option 3 ID : 75189721258
Option 4 ID : 75189721259
Status : Answered
Chosen Option : 3
Q.68 The number of solutions to the pair of linear equations 5x — 3y = 7 and 7x + 4y = 18 is:
Ans X 1. infinite
X 2. three
« 3. one
< 4. none
Question ID : 7518976324
Option 1 ID : 75189725295
Option 2 ID : 75189725296
Option 3 ID : 75189725293
Option 4 ID : 75189725294
Status : Answered
Chosen Option : 4
Q.69 If one root of the equation (@ + 3)x?> — 13ax+ 7 —a = 0 s the reciprocal of the other, then the value of @ is:
Ans o 1. 2
X2 3
X33
K4 2
Question ID : 7518976345
Option 1 ID : 75189725379
Option 2 ID : 75189725378
Option 3 ID : 75189725380
Option 4 ID : 75189725377
Status : Answered
Chosen Option : 3
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Q.70 Asof July 2022, under the “Nai Manzil® Scheme of the Ministry of Minority Affairs, the participant will get non-
residential integrated education and skill training programune for © to 12 months of which a minimum

months should be devoted 1o skill training.

(Left) 4T6S2AD&CE24+& T6USHUKSEW @ EA &P (Right)

How many such vowels are there in the series which are immediately preceded by a number and also immediately
followed by a consonant?

Ans X' 1. four
« 2. three
X 3. two
X 4. five
Question ID : 7518976545
Option 1 ID : 75189726179
Option 2 ID : 75189726178
Option 3 ID : 75189726177
Option 4 ID : 75189726180
Status : Not Answered
Chosen Option : --
Q.71 Refer to the following letter, number and symbol series and answer the question.

Ans 1. Two
X 2. Three
< 3. One
X 4. None
Question ID : 7518975227
Option 1 ID : 75189720907
Option 2 ID : 75189720908
Option 3 ID : 75189720906
Option 4 ID : 75189720905
Status : Answered
Chosen Option : 1
Q.72 Which of the following numbers will replace the question mark (?) in the given series?
9, 10, 22, 69, 280,7
Ans 1. 1405
< 21450
X 3. 576
X 4. 560
Question ID : 7518975287
Option 1 ID : 75189721147
Option 2 ID : 75189721148
Option 3 ID : 75189721146
Option 4 ID : 75189721145
Status : Answered
Chosen Option : 1
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Ans

# 1. Methane
« 2. Acetic acid
« 3. Ethanol

# 4. Chloroform

Q.73 YWhich of the following compounds possesses the highest boiling point?

Question ID : 7518973393
Option 1 ID : 75189713569
Option 2 ID : 75189713570
Option 3 ID : 75189713572
Option 4 ID : 75189713571
Status : Answered
Chosen Option : 2
Q.74 5 mlofasolution of NaOH is found to be completely newntralised by 5 ml of a given solution of HCL If we take 10 ml of
the same solution of NaOH, the amount of HC! solution required to nentralise it will be:
Ans X 1. 5ml
& 2 10 ml
X3 25ml
X4 15ml
Question ID : 7518973604
Option 1 ID : 75189714415
Option 2 ID : 75189714416
Option 3 ID : 75189714414
Option 4 ID : 75189714413
Status : Answered
Chosen Option : 2
Q.75 Vishal is standing in a park facing the south direction. He then turns 90° clockwise on the same point. After that, he
rns 45° elockwise. In which direction is he facing now?
Ans & 1. North-west
X 2. South-west
# 3. North-east
X 4. South-east
Question ID : 7518975258
Option 11D : 75189721031
Option 2 ID : 75189721029
Option 3 ID : 75189721030
Option 4 ID : 75189721032
Status : Answered
Chosen Option : 1
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Q.76 A current of 5 A flows through a conductor having resistance 2 1. The potential differsnce (in volr) across the ends of the

conductor is:
Ans x 1. 3
<2 7
<3 25
« 4. 10
Question ID : 7518975449
Option 1 ID : 75189721794
Option 2 ID : 75189721795
Option 3 ID : 75189721793
Option 4 ID : 75189721796
Status : Answered
Chosen Option : 4
Q.77 select the option that is related 1o the fifth number in the same way as the second pumber is related to the first number
and the fourth number is related 1o the third number,
e T 205 FER T 32T
Ans X 1. 155
o 2. 165
<3130
< 4 140
Question ID : 7518974860
Option 1 ID : 75189719440
Option 2 ID : 75189719438
Option 3 ID : 75189719439
Option 4 ID : 75189719437
Status : Answered
Chosen Option : 2
Q.78 gfy 2 af vge W F A F 4% TF TFAfE =0 ¥ & W 23,000 Fr T IUR o o, & 57
Tohtel & Frw 1 g A F T Taer I #r ogerae e gen?
Ans X 1. 33,453.90
X 2.32,344.80
x 3 %4 321
4. 33,244.80
Question ID : 7518975618
Option 1 ID : 75189722470
Option 2 ID : 75189722469
Option 3 ID : 75189722472
Option 4 ID : 75189722471
Status : Answered
Chosen Option : 4
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Q.79 Find the least six-digit number that is exactly divisible by 8, 10, 12 and 16.

Ans 1. 100040
< 2. 100020
X 3. 100060
o 4. 100080
Question ID : 7518976042
Option 1 ID : 75189724166
Option 2 ID : 75189724165
Option 3 ID : 75189724167
Option 4 ID : 75189724168
Status : Answered
Chosen Option : 4
Q80 What will be the next homologous series member of compound CgHjy?
Ans < 1. C?Hlﬁ
> 2. C?Hlﬂ
3 CrHpy
o 4. C?ng
Question ID : 7518973406
Option 1 ID : 75189713624
Option 2 ID : 75189713621
Option 3 ID : 75189713623
Option 4 ID : 75189713622
Status : Answered
Chosen Option : 4
Q.81 7: edit - A, B, C, D, E 3R F & v Feahen T & swaftys fhan mmam &, g e s 737 &
A 3T 7@ ¥ B A FW ¥ @Y TUE W I@T AT §| AT D F1 A R B % & 1@ mm gl E,
DFAT R e INEdRDSFfo s w Rear @ § F 78 e @@ W
T & i @ e AR & gEY T T T@T 9T 87
Ans x 1. D
X2 A
X3 C
v 4 E
Question ID : 7518974736
Option 1 ID : 75189718941
Option 2 ID : 75189718943
Option 3 ID : 75189718942
Option 4 ID : 75189718944
Status : Answered
Chosen Option : 4
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Q.82 Find the total surface area of a cylinder whose radius of base is 7 cm and height is 15 cm.

Ans X 1. 830w om?

X 2. 380m cm?
+ 2 308w ecm?
#< 4 803w cm?
Question ID : 7518975974
Option 1 ID : 75189723896
Option 2 ID : 75189723894
Option 3 ID : 75189723893
Option 4 ID : 75189723895
Status : Answered
Chosen Option : 3
Q.83 ws T 3y 3 =g o awone | A 0 & mmﬁaﬁmﬁmm?ﬂﬁ
Ta=T T & T anonat F F Fia O anone Fuw § fRa 2
HYe:
e FEE $ g5 F FROT a7 T [ A9E 3T @ 5, T 59 F AT A FETE W
& T T
O
|. AR = A IoT ATt F Afde suTeT e g
II. sga & 3T e FETE W A F P aw deet AR E
Ans
XlLgararom | dr T AT E
X2 Faer uror | ART &
X3 o | 3T I, St e &
V4 g arom || R g
Question ID : 7518976404
Option 1 ID : 75189725615
Option 2 ID : 75189725613
Option 3 ID : 75189725616
Option 4 ID : 75189725614
Status : Answered
Chosen Option : 4
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Q.84 In which year was the first Economic Survey presented as part of the Union Budget?

Ans X' 1. 1947-48
X 2. 1960-61
« 3. 1950-51
X 4. 1953-54
Question ID : 7518974042
Option 1 ID : 75189716165
Option 2 ID : 75189716168
Option 3 ID : 75189716166
Option 4 ID : 75189716167
Status : Answered
Chosen Option : 3
Q.85 . : ¢ .
2Ty Ty AT F ¥ &y goft &7 9w s &2
Ans .
x 1. B
X2 AGer
X 3. FHET
2
o 4. %ﬂﬁs‘r
Question ID : 7518974386
Option 1 ID : 75189717542
Option 2 ID : 75189717543
Option 3 ID : 75189717541
Option 4 ID : 75189717544
Status : Answered
Chosen Option : 4
Q86 Which of the following vears was a leap year?
Ans X' 1. 2006
X 2. 2002
X3 2018
W 42012
Question ID : 7518976420
Option 1 ID : 75189725678
Option 2 ID : 75189725677
Option 3 ID : 75189725680
Option 4 ID : 75189725679
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

Q87 1dentify the INCORRECT order for the number of valence shell electrons.
Ans X1 Li<Be<B<C<=N
¥2 Al<P=Si<S=Cl
X 3. Na<Mg<Al<P<Ar
X4 B<N<QO<F<Ne
Question ID : 7518973717
Option 1 ID : 75189714866
Option 2 ID : 75189714865
Option 3 ID : 75189714867
Option 4 ID : 75189714868
Status : Not Answered
Chosen Option : --
Q.88 From total elements, elements were discovered through laboratory processes.
Ans X' 1.114,22
X2 114,20
X3 118,26
4 118,24
Question ID : 7518973697
Option 1 ID : 75189714785
Option 2 ID : 75189714787
Option 3 ID : 75189714788
Option 4 ID : 75189714786
Status : Answered
Chosen Option : 4
Q.89
On which river is India’s smallest river island Umananda situated?
Ans
A1 Ganga River
X 2. Saraswati River
A 3. Yamuna River
« 4 Brahmaputra River
Question ID : 7518973907
Option 1 ID : 75189715626
Option 2 ID : 75189715627
Option 3 ID : 75189715625
Option 4 ID : 75189715628
Status : Answered
Chosen Option : 1
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Q.90 is the chemical name of washing soda.

Ans X 1. Sodium carbonate tetrahydrate
X 2. Sodium carbonate pentahydrate
+ 3. Sodium carbonate decahydrate

X 4. Sodium carbonate trihydrate

Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 21D :

7518973481
75189713923
75189713922
75189713924
75189713921
Answered

3

Q.91 All 65 students of a class are standing in a row facing the north. Amrit is 46" from the extreme left end of the row,

whereas Kashvi is 14% from the extreme right end. How many students are standing between Amrit and Kashvi?
Ans X' 1. G
x27
3 5
x4 4

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

: 7518975144

: 75189720575
: 75189720576
: 75189720574
: 75189720573

Answered
4
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Q.92

Ans

Identify the correct relation between radius of curvature ‘R, object distance "u’ and image distance v for a spherical

Uv
X1 R=———
2(u+v)
2uv
w2 R=
U+ v
<3 R ZM
2uv

2(u+
Xa p_ (u+wv)

uw

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975387
75189721546
75189721545
75189721548
75189721547
Answered

2

Ans

< 1. East
" 2. West
X 3. South-west
# 4. North-west

Q.93  sujam is standing in a park facing rthe east direction. She then s 135" anticlockwise. After thar, she urns 90°
anticlockwise, Then, she turms 45° clockwise, In which direction is she facing now?

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975263
75189721049
75189721051
75189721052
75189721050
Answered

2
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Q94 wWhich of the following is NOT a quadrilateral?
Ans

X 1. Trapezium
X 2. Parallelogram
« 3. Circle

# 4. Rhombus

Question ID : 7518975991
Option 1 ID : 75189723964
Option 2 ID : 75189723961
Option 3 ID : 75189723963
Option 4 ID : 75189723962
Status : Answered
Chosen Option : 3

current across R (in A) is:

Q.95 Two resistors Ry and Rs with resistances 2 [ and 3 0, respectively, are connected in series to a 15V battery source. The

Question ID : 7518975452
Option 1 ID : 75189721807
Option 2 ID : 75189721805
Option 3 ID : 75189721806
Option 4 ID : 75189721808
Status : Answered
Chosen Option : 2

Ans X1
&2 3
X3 75
x4 15
Q.96

sin‘h — sin*B + 1

1 - sin?8

1—tan®B-tan*0
1+ tan?8

Find the value of

Ans X' 1. 1
X2 —1
<30
4 2

Question ID : 7518976218
Option 1 ID : 75189724871
Option 2 ID : 75189724869
Option 3 ID : 75189724870
Option 4 ID : 75189724872
Status : Answered
Chosen Option : 4
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Q.97

Which of the following is NOT true about the demand curve?

Ans X 1. Tt reflects the law of demand.
X 2. It is negatively sloped.
« 3. It is the plots of quantities demanded at various time.
X 4. It is the plots of quantities demanded at various price.
Question ID : 7518974215
Option 1 ID : 75189716857
Option 2 ID : 75189716859
Option 3 ID : 75189716860
Option 4 ID : 75189716858
Status : Answered
Chosen Option : 2
Q98 For what values of z will the following equation have equal roots?
z+4)x*+(z+Dx+1=0
Ans X 1.2,-3
X2 4.3
&3 5, —3
K4 2,5
Question ID : 7518975739
Option 1 ID : 75189722956
Option 2 ID : 75189722953
Option 3 ID : 75189722955
Option 4 ID : 75189722954
Status : Answered
Chosen Option : 1
Q.99 Two pipes Aand B can fill a tank in 15 hours and 20 hours. respectively. while a third pipe C can empty the full tank in 30
hours. If all the three pipes operate simultaneonsly, in how much time will the tank, initially empty, be filled?
Ans X 1. 13 hours
+ 2. 12 hours
# 3. 18 hours
X 4. 15 hours
Question ID : 7518975887
Option 1 ID : 75189723546
Option 2 ID : 75189723545
Option 3 ID : 75189723548
Option 4 ID : 75189723547
Status : Answered
Chosen Option : 2
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Q.100 Cork is impermeable to water and gases because of
X 1. lignin
X 2. cutin

Ans

X< 3. cellulose

« 4. suberin

found within its cells.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974346
75189717384
75189717383
75189717382
75189717381
Not Answered
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